ROGRESS

LIGHTING™ P2103-20, P2103-20DI, P300074-009
P2104-20, P2104-20DI, P300075-009
Package Contents P2106-20
L Quantity
Part Description 3LTI4LTI5.LT
A | Fixture 1 1 1
B | Glass 3 4 5
C | Socket Ring 3 4 5

AL A4

C OO D

P2103-20, P300074-009
A A A A

g J gD

P2104-20, P300075-009
A A A A A

O U gdgn

P2106-20

Hardware Contents (not actual size)

€ E9 @
) m ()
#8-32 Screw Wire nut Back plate Ball nut Hex nut #10-24 screw Toggles
Qty:2 Qty:3 Qty:1 Qty:2 Qty:2 Qty:2 Qty:2

THANK YOU for selecting Progress Lighting

@ We can assist you with questions regarding product information, assembly or missing parts

800-447-0573 customerservice@progresslighting.com
8am-8pm (Eastern), Monday-Friday r < Prog ghting.

93069902 Page:1




A Safety Information

Please read and understand this entire manual before attempting to assemble,operate or install the product.

CAUTION: Read instructions carefully and turn electricity off at main circuit breaker panel before beginning installation.
CAUTION: Risk of fire. Min. 90°C supply conductors. Consult a qualified electrician to ensure correct branch circuit conductor
WARNING: If any Special Control Devices are used with this Fixture, follow instructions carefully to assure full compliance with
N.E.C. requirements. If there are any questions, contact a qualified electrical contractor.

CAUTION: All glass is fragile, use care when handling glass shades and bulbs.

Preparation

1. Before beginning installation, make sure all parts are included using the contents diagrams from page 1.
If any part is missing or damage, do not attempt to assemble, install or operate the product.
2. Estimated assembly time: 30 minutes.

3. Tools required for assembly (not included): Phillips screwdriver, pliers, wire stripper, safety glasses, electrical tape, ladder,drill.

Care and Maintenance

Shut off main power supply before cleaning product or changing light bulbs. To clean, wipe with damp cloth. Do not use abrasive
cleaners or cleaners that contain alcohol.

Assembly Instructions

1. Attach #8-32 screw (AA) onto back plate (CC) and use hex nut (EE)
to tight it. Attach #10-24 screw (GG), toggles (HH) to back plate(CC).

Hardware Used

#8-32 Screw M X2

@ Hex nut X2

@ Back Plate

X1

@ #10-24 screw X2

@ Toggles % X2 \Q\

{8 \7 AN

2. Drill two #1/2" holes for wall with toggles. Attach assembled ¢1/2" DRILL HOLES
parts from Step 1 onto junction box, using the mounting screws
supplied with the junction box (not included).

PAGE 2 of 4 SPEC.NO. 93069902




Assembly Instructions

3. Strip %" of insulation from the electrical wire ends. Using wire | 5_Attach glass (B) to fixture (A) and use socket ring (C) to

nuts (BB), connect white fixture wire to the white supply wire secure tight.
from the junction box; connect the black fixture wire to the black

supply wire.

Connect the fixture ground wire and supply ground wire using a 5

wire nut or by fastening it to the ground screw on the crossbar.

Push all wire connections into the outlet box.

@ Wire nut (g X3

4. Secure the fixture (A) to the wall using the ball nut (DD).
Tighten securely. Fixture orientation can go up or down.

6. Screw lamp (not included) into fixture socket. Use
100-watt MAX incandescent medium base lamp, SBCFL or
SBLED.

6

WARRANTY AND EXCLUSIVE REMEDY: Progress products, when properly installed and under normal conditions of use, are warranted to our customers only to be free from defects in material and workmanship
at time of shipment. all warranty claims must be asserted within one year from date of purchase of the subject items; thereafter, warranty claims will not be honored. customers' sole remedy for a warranty claim or
otherwise shall be limited to repair or replacement of the subject product if it is shown to have been defective in material or workmanship at time of shipment. Progress's sole and maximum liability for a defective
product shall never exceed the cost of the subject product. except for such a warranty and exclusive remedy as stated (and the express warranty of title), we disclaim all other warranties, whether express or
implied, and specifically disclaim the implied warranties of merchantability and fitness for a particular purpose. in no event shall we be liable to customer in warranty, contract, negligence, strict liability or otherwise,
for any damages, whether incidental or consequential, which are alleged to be caused by one or more of our products, beyond the cost to the customer of the subject product or products. therefore, the customer's
sole and exclusive remedy against us for breach of the warranty, breach of contract or negligence or strict liability or otherwise shall be limited to repair or replacement of the subject product at our option
(excluding installation and removal charges which shall not be our liability) or, if we choose, refund of the purchase price. in no case does our warranty and exclusive remedy extend to anybody other than our
customers. our customers are not authorized to extend warranties or remedies on our behalf to anyone. such unauthorized extensions of warranties or remedies by the customer shall remain customer's
responsibility. customer is responsible for determining the suitability of our products for customer's use or resale, or for incorporating them into objects or for applications which customer designs, assembles,
constructs or manufactures.

PAGE 3 of 4 SPEC.NO. 93069902




Instructions d'Assemblage et Installation

Mise en garde: Lire les instructions avec soin et couper le courant au
disjoncteur central avant de commencer l'installation.

MISE EN GARDE: Lire les instructions avec soin et couper le courant au disjoncteur central avant de commencer l'installation.

MISE EN GARDE: Risque d'incendie. Min 90°C conducteurs d'alimentation. Consulter un électricien qualifié pour assurer le
bon conducteur de circuit de dérivation.

AVERTISSEMENT - S'il y a d'autres mécanismes régulateurs qui s'emploient avec ce dispositif, suivre soigneusement
les instructions pour satisfaire aux exigences NEC. Sivous avez des questions, consulter un électricien qualifié.

MISE EN GARDE - Le verre est toujours fragile; maniez le(s) composant(s) et/ou I' (les) ampoule(s) avec prudence.

Kkkkkkkkkkkkkkkkkkkhkkhkkhkkhkhkhhkhhkkkhkkhkkkkhkkhkkhkhhkkkhrkhkkhkhkkhkkhhkkkhkhhkkhkkkkkkhkhkkhkkhkhhkkkhkkhhkhhkkkhrkhhkhkkhkkhkkhhhkhkkhhkhkkhkkrkkkhkkhkkk

FILS D' ALIMENTATION FIL DU LUMINAIRE BLANC,
BLANC MARQUE OU NERVURE
CAPUCHONS
DE CONNEXION
HOMOLOGUES UL
FILS D' ALIMENTATION FIL DU LUMINAIRE
NOR W NOIR OU LISSE
FIL DENUDE EN CUIVRE FIL DENUDE EN CUIVRE
ou FIL VERT DE MISE ou VERT DE MISE
DE L ALIMENTA‘HON DU LUMINAIRE
FIL DENUDE EN CUIVRE FIL DENUDE EN CUIVRE
OU FIL VERT DE MISE OU VERT DE MISE
ALATERRE ALATERRE
DE L' ALIMENTATION DU LUMINAIRE
VIS VERTE DE MISE
ALATERRE

Instrucciones de ensamblaje e instalacion

Precaucion: Lea cuidadosamente las instrucciones y desconecte la electricidad
del cortacircuitos pr|n0|pal antes de iniciar la instalacion.

PRECAUCION: Lea cuidadosamente las instrucciones y desconecte la electricidad del cortacircuitos principal antes de iniciar
la instalacion.

PRECAUCION: Riesgo de fuego. Min. 90°C los cables de suministro. Consulte a un electricista calificado para asegurarse
de que el conductor del circuito derivado correcto.

ADVERTENCIA - Si usa algun dispositivo especial de control con este aparato de luz, siga las instrucciones
cuidadosamente para asegurar la completa conformidad con los requisitos N.E.C. Si existe alguna duda, contacte un

electricista calificado.

PRECAUCION - El vidrio es fragil; tenga cuidado al manipular el (los) elemento(s) de vidrio y/o la(s) bombilla(s).

CABLE BLANCO CABLE BLANCO DE LA LAMPARA,
DE SUMINISTRO MARCADO O ESTRIADO
TUERCAS
PARA CABLE
APROBADAS POR UL
CABLE NEGRO CABLE DE LA LAMPARA,
DE SUMINISTRO NEGRO O LISO
CABLE ATIERRA, CABLE A TIERRA

VERDE O NEGRO DE LA LAMPARA,
DE COBRE, VERDE O PELADO
DESDE EL SUMINISTRO DE COBRE

CABLE A TIERRA, CABLE ATIERRA

VERDE O NEGRO DELA LAMPARA
DE COBRE, VERDE O PELADO
DESDE EL SUMINISTRO DE COBRE
TORNILLO A TIERRA,

VERDE

PAGE 4 of 4 SPEC.NO. 93069902  04/19/21




